)
ﬁ?i, v % q% LI AR R

P SEE
63x3 + 2022 + 49x + 72 542 + 63x + 15
Fx+ 8 Ox+ 3
49x% + 28x +3 B 62 +x
Tx+ 1 X
72x* = 51x+9 6x° + 2o —32x— 32
& —3 6x+ 8
18x% + 54x + 36 40x° + 852 +30x — 15
3x+6 5+ 5
20 +3% —4x—5 45x° — 45 — 63x
x+1 Ox

www.snowmath.com

o



https://www.snowmath.com
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2 AT RE N ERIE

4

63x° + 20:2 + 49x + 72
Ox+ 8
T — dx+9

49x2 + 28x+ 3
Tx+ 1
Tx+3

72x% — 51x+9
& —3
9x—3

18x2 + 54x + 36
3x+6
6x+ 6

260 +32 —4x—-5
x+1
2% +x-5

H #A:

54x% + 63x + 15
O9x+3
6x+5

X —6F +x

X —6x+1

6x° + 22 —32x— 32
6x+ &
—x—4

40x3 + 852 +30x — 15
5x+5
8% + 9x— 3

45x° — 45 — 63x

5¢° —5x—7
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